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Peakarea normalization

- Processed: 2023-02-02 06:45:06

- Input file: 20230126 _LN478 AS_CTRL_GBA_DB_Li_13cGlc_only_conc.rep.xlsx
— Number of replicates: 2

— Number of metabolites: 66

- Reference sample: CTRL

- PCV: N/A
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Pyruvate
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= €14LD 1T 99T
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= T7410 1T 2ID2ET
= €vao ad 99%€eT
= 2vdao ad 99%eT
= Tvgo ad 9I9%€eT
= #1410 9 2I99eT
= €74.10 aa 2192eT
= 27410 aa 2199eT

= 17410 9a 2199eT

= €VaD |7 JDIET
= Zve9 17 99T
= TvE9 1T 99T
= ¥14L10 1T 9I99ET
= €1410 1T 99T
= 21910 1T 99T
= TTYLO 1T 2IDIET
= €vao ad 99%€eT
= 2vao ad 99%€eT
= Tvgo ad 9I99€eT
= #7410 9d 2IDIET
= €£14.1D 9a 2199eT
= 21410 aa 2199eT

= 17410 aa 2199eT
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= €vaD 1T 2DIET

= 2va9 17 J9IET

= TvE9 1T 99T

= 71410 1T 2IDIET
= €14L10 1T 99T
= 241D 1T 9I99€T
= TTYLO 1T 2I99ET
= €vE9 aq 2I99eT
= 2va9 ad 99%€eT
= Tvgo ad 99%€eT
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= €7410 gd 29T
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= 17410 9a 2199eT
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= €vaD 1T 2DIET
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= TvE9 1T 99T
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Succinic acid

Succinic acid
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= TTYLO 1T 2I99ET
= €vE9 aq 2I99eT
= 2va9 ad 99%€eT
= Tvgo ad 99%€eT
= ¥1410 aa 2I99eT
= €7410 gd 29T
= 27410 9d 9I9IET

= 17410 9a 2199eT

= €VEO 1T 99T

= 2va9 17 299ET

= TvE9 17 99T

= 71810 1T 2IDIET
= €14LD 1T 99T
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= Tvgo ad 9I9%€eT
= #1410 9 2I99eT
= €74.10 aa 2192eT
= 27410 aa 2199eT

= 17410 9a 2199eT

= €VaD |7 JDIET
= Zve9 17 99T
= TvE9 1T 99T
= ¥14L10 1T 9I99ET
= €1410 1T 99T
= 21910 1T 99T
= TTYLO 1T 2IDIET
= €vao ad 99%€eT
= 2vao ad 99%€eT
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= €£14.1D 9a 2199eT
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threonine
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= 71410 1T 2IDIET
= €14L10 1T 99T
= 241D 1T 9I99€T
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= €vaD 1T 2DIET
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= €14L10 1T 99T
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= TTYLO 1T 2I99ET
= €vE9 aq 2I99eT
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= 27410 9d 9I9IET

Thymine

= 17410 9a 2199eT

Thymine

20~

15

10
5
0-

(eaue paziewlou)bo|

= €VE9 1T 99T
= 2vao 1T 29T
= TvE9 1T 2IDIET
= 71410 1T 2IDIET
= €14LD 1T 99T
= Z1dLD 1T 9I99€T
= TT4LD 1T 99T
= €vE9 aq 2I99eT
= 2Zvao ad 99%eT
= Tvgo 9d 9I99€eT
= 71410 9d 2IDIET
= €£141D0 9a 2199eT

= 21410 aa 2199eT

llliillinilii

Thymine

= 17410 9 2192¢eT

Thymine

6e+06 -
4e+06 -
2e+06 -
0e+00 -

eale paziewlou

= €VED IT 2DIET
= 2va9 17 29IET
= TvE9 1T 99T
= ¥14LD 1T 9I99€T
= €14LD 1T 99T
= 21410 1T 99T
= T14LD 1T 99T
= €vao ad 99%ET
= 2Zvao ad 99%eT
= Tvdo ad 99%€eT
= 1410 9d 2IDIET
= €7410 gd 2A99ET

= 21410 9a 2199eT

without PCV normalizion

= 17410 9a 2199eT

0-

N —
(eaue paziewlou)bo|

= €vE9 17 99T
= Zve9 17 99T
= TvE9 1T 99T
= ¥14L10 1T 9I99ET
= €1410 1T 99T
= 21910 1T 99T

= TTYLO 1T 2IDIET

= €vao ad 99%€eT

= 2vao ad 99%€eT
= Tvgo ad 9I99€eT
= #7410 9d 2IDIET
= €£14.1D 9a 2199eT
= 21410 aa 2199eT

= 17410 aa 2199eT

lliiiiliiilii‘

1
< N

eale paziewlou

0-



tryptophan

page 60 of 74

tryptophan
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= Tvgo ad 99%€eT
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Sample correlation plot
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PCA - PC1 vs PC2
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PCA - PC3 vs PC4
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